Oo6opynoBanue ELITECH ’

107370, Poccusi, MockBa, OTKpsbITOE 111, 1.12, cTP.35 ELITECH

Ten./ghaxc 745-8888, 745-8937

19 25



3179.00.00.000-01 KIC

KP2090/270/4T 380B,50Ty | 10 6ap
Karanor neraneit u cOOpOYHBIX €TUHUIT
Io3. Koa. Ne yepremxa HaumeHoBaHue Kou1.
1. | 0702.023300 4042100400 DnekTpoaBurarens, 4,0 kBt 1
2. 10702.020500 4301300070 Pemens B1700 2
3. 10702.011400 3179.00.00.104 [IkuB 2B 145 1
4. 10702.014600 3106.00.00.101 [Tpmxum 1
5. 10702.006900 [aii6a 10.65T° 9
6. | 0702.006600 Bboar M10x20 1
7. 10702.002600 boar M10x35 4
8. 10702.000200 Bboar M10x30 6
9. 10702.019000 4996111073 ITpeccoctar MDR3 1
10.] 0702.021400 4251100202 Kitanan npeoxpaHuTesbHbIN 1
11.] 0702.022300 4141401600 ManomeTtp 1
12.1 0702.015800 3101.00.00.203 3arayuka 2
13.1 0702.016000 3101.00.00.201 [lepexoaHuk 1
14.1 0702.007000 boar M10x45 4
15.1 0702.001100 [aii6a 10 26
16.] 0702.000700 ["aiika M10 10
17.10702.024000 4022230150 biok nopmnesoit TC2090 1
18.1 0702.016900 3040.00.00.048 3arnynika 1
19.1 0702.001200 [aiiba 12 4
20.]1 0702.022700 4121001000 KonnencatooTBoguuk 1
21.10702.022500 4133200300 Perynsatop naBnenus 1
22.10702.000900 ["aiika M6 1
23.10702.001300 [aii6a 6 1
24.1 0702.001400 [laii6a 6, 65T 1
25.10702.000100 boar M10x25 4
26.| 0702.021300 4271000103 AmMopTH3zaTop 4
27.1 0702.022900 4111324000 Kpau 1
28.1 0702.014700 3106.00.00.021 [lepexoaHuk 1
29.10702.021700 4241343102 Krnanan oOpaTHbIi 1
30.| 0702.011200 3179.00.00.400 BoznyxomnpoBoj 1
31.1 0702.020400 4350010002 Pacniopka 1
32.10702.020300 4350020002 3amenka 4
33.10702.000300 boar M6x16 5
34.1 0702.001500 [aii6a 6x18 5
35.10702.011000 3179.00.00.600 Kppika 1
36.1 0702.011100 3179.00.00.500 OcHoBaHue 1
37.10702.011300 3179.00.00.110 [1naTpopma 1
38.1 0702.020000 4490000000 TpyOka Rilsan 1
39.10702.019500 4871401590 IIpoBonx 1
40.| 0702.018300 3002.00.00.000-01 Pecusep 1
41.| 0702.020200 4381003500 VYkazatenb 1
42.10702.021900 4170600601 Coenunenue A-L-6-1/8"-T11B 1
43.10702.010100 BK75.00.00.006 IMepexoanuk 1"x1" 1
44.1 0702.010300 3304.00.00.027 [Mepexoanauk 1"x1" 1




